=
| I:’T:: |_;_;“o;§:‘_‘?’_§ (crel: M)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
SXIE 2 37,889,979 32,300,441 5,589,538
= 24,362,373
s 648,234
< 2,832,207
Al 8,465,576
= 1,581,589
IO ZMESE(AISISX /| = MEBE) 23,978,628 20,159,373 3,819,255
= 21,314,172
= 144,3%
& 1,666,422
Al 853,638
HASSIIZMEEE 23,978,628 20,159,373 3,819,255
= 21,314,172
s 144,396
& 1,666,422
Al 853,638
MASE AES WEHl X 18,000 21,000 A3,000
301 LetEdE= 18,000 21,000 A3,000
03 MBI B & X262 (KIS THE) 18,000 0 18,000
OAlgel n=g| X 300, 000260 18,000
SSTEHISHIILRIAA 36,000 36,000 0
301 LEtE&Z 36,000 36,000 0
03 AISIEE X 2EIS (RIS THRA) 36,000 0 36,000
Ok S I3 N
5,000 *600AICH* 122 36,000
(=)A= 23,371,725 19,650,999 3,720,726
= 21,034,552
= 1,636,021
Al 701,152
301 LetE&3 23,371,725 19,650,999 3,720,726
= 21,034,552
& 1,636,021
Al 701,152
01 ABIEBEE2ES(2DEEMNSA) 23,371,725 19,650,999 3,720,726
OMA=0 23,371,725,000x1 Al 23,371,725
= 21,034,552
& 1,636,021
Al 701,152
WESHRIR(SHAEXH) 30,680 25,356 5,324
308 KtXISHXISO0IE 30,680 25,356 5,324
08 W=I|2HNHSEX 30,680 25,356 5,324
@mE==1: 30,680,000&* 14| 30,680
(D) HAEHZO 187,886 134,718 53,168




2A:

ME: 00| EABE(ASI=T I EAEEE)
el NASEI|ZMESE (crel: M)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
= 169,097
= 6,576
Al 12,213
301 YBHEAZ 187,886 134,718 53, 168
2 169,097
= 6,576
Al 12,213
INEEEER T EMEESTE) 187,886 134,718 53, 168
Ot EHZ ¢ 187,886,000 1Al 187,886
2 169,007
< 6,576
Al 12,213
(2)L380 110,523 106,300 4,223
2 110,523
301 YBHEAZ 110,523 106,300 4,223
2 110,523
INEEEER T EMEESTE) 110,523 106,300 4,223
OFSYZ 201 XIS (HHsHI)
110,523,000 %14 110,523
2 110,523
(2)NZT SARIzR N 20,000 20,000 0
2 10,000
< 3,000
Al 7,000
201 2LBt2] 10,280 11,000 AT20
2 5,140
< 1,542
Al 3,598
01 At=2elt] 10,280 11,000 AT20
OArllZelAle 22|
10,280,000 14! 10,280
2 5,140
= 1,542
Al 3,598
301 YBHEAZ 6,720 6,000 720
2 3,360
= 1,008
Al 2,352
INEEEER S EMEESTE) 6,000 6,000 0
OARIZ2ICHA R X2t
500,000&* 12 6,000
2 3,000
< 900
Al 2,100




A
K| XH -
(e

chol:

Ofl &R

MEE
Ol &k2H

11 HAAHIXE S

OCtzt 2| 60,000 «12&

SRRE]]

=

720
720
360
108
252

720

307 212+01&

SARNEY

>

3,000
1,500

450
1,050

3,000

200,000& 3 +53]

SRR

=

3,000

3,000
1,500

450
1,050

3,000

3
O
ol

A2l A KIR

[

SRRE]]

=

6,360
3,180

954
2,226

5,400

960

202 Odd|

SRR

6,360
3,180

954
2,226

5,400

960

20,0003 ~6L+3H =122

— 1

to

[0:1:] 170,000 x3E *42]

= mn 3

SRRE]]

=

6,360
6,360
4,320
2,160

648
1,512
2,040
1,020

306

714

5,400

960

(2)S2s Y58 sgMilx 1

SRARE]]

=

187,454
131,216
16,871
39,367

1

59,600

27,854

SRRE]]

93,727
65,608

8,435
19,684

79,800

13,927

01 AtR2tel|

10

93,727

79,800

13,927




SN SR
RzH: 20IJ|EAM
Y

=
Ci9l HASS)IZMEER (191 2121)
SA - FH . SRI(B) - HIRAY - BAS il b ] Hl D=2
O8HES Ardl&elslel & 29|
4,933,000& %1904 A 93,727
s 65,608
& 8,435
Al 19,684
301 LetEE= 93,727 79,800 13,927
s 65,608
= 8,436
Al 19,683
01 AISIEEEES (2 DEEMNSA) 93,727 79,800 13,927
OS0iE AZRIIAT X
4,933,000&* 1970 2 93,727
s 65,608
= 8,436
Al 19,683
(L)SXARR L2292 10,000 0 10,000
& 3,000
Al 7,000
201 LEt23H| 5,000 0 5,000
& 1,500
Al 3,500
01 AtR2eld] 5,000 0 5,000
O=EXARAUE= 23|
5,000,000 *14] 5,000
& 1,500
Al 3,500
301 LEtBE= 5,000 0 5,000
& 1,500
Al 3,500
02 ABIBEE>ES(FHLAS, KSTHSA) 5,000 0 5,000
O=RXIAHXICH CHAFRE XA
250,000& *x20H 5,000
& 1,500
Al 3,500
FUHS KA (ASSX/HLHSKIA) 4,328,755 4,012,881 315,874
= 803,536
as 290,400
& 282,678
Al 2,612,655
= 339,486
FHAASKA 4,328,755 4,012,881 315,874
= 803,536
s 290,400
& 282,678




2A:

SXE2

i FHOHZE KIA(ASI=R/HAHEXR)
el FAHSAE (Crel: &)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
Al 2,612,655
= 339,486
R ESNE] 192,020 193,420 AT,400
201 LB 7.060 8,460 AT,400
01 AlR2r2IH] 1,900 3,300 AT,400
0222 AlDl AAIRIRIG] & AeCh
70,0002 +10E 13| 700
OXIALS SAEB O =R HIZ
11,00024%100 1,100
OLAIESA(Z2IHAN 22/e! TI=H|
100,000+ 12415 100
02 2229 5,160 5,160 0
OLANESA HIAE2
150,000 %122 1,800
OLABEA AISEH X
1,200,000 %104 A 1,200
OYAEEA Hatea|
12,00024%180 2,160
301 LBIE A= 156,000 156,000 0
03 AFSIEEE S5 S (XL THL) 156,000 0 156,000
OXtAIIHS MAH
100,000 130 MI CH* 122 156,000
307 2I2I01A 28,960 28,960 0
01 2L R2H| 28,960 28,960
OSXIARXITH a4 X
300,00024*60H 18,000
Ot 25 20,000 +8Z* 12 1,920
O#RAX HIZ0IRE 22
100, 00024202 2,000
OAAIZ X I 1,000,000 x5 5,000
OLANBEEA 29 2,040,0002* 174 A 2,040
NENEIENES 125,650 172,150 46,500
201 LB 24,290 24,290 0
01 AlR2r2IH] 24,290 24,290 0
OXIALS SA A2 AR Q1
10,00024* 1505 1,500
OCIXtE XIGAISI S EHE AIBHE oIy
10,00024* 1505 1,500
OXIYAS BRI 28| & 45
70,0002 %602 43| 16,800
OSFARIZAR ARG 3|2 44
70,0002 6% +23| 840
OMBIEX L B& S2X} AHH HIZ
70,0002 %3574 2,450
OMBI=EX 222 ¢ 349 M
60,00024*20H 1,200




A

X‘liH:

SXE2

FHoANE XJ(AB=SX/FAHNSKIH)

=l FAAHSKH (CHl: X 21)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
301 LBENSZ 3,360 3,360 0
03 AtSI 2 & X462 (X2 E) 3,360 0 3,360
OYFAXS A SRS SAIR =&
140, 0002+ 2+ 122 3,360
307 2I2t0| ™ 98,000 94,500 3,500
11 ARI=XAIEE X 98,000 94,500 3,500
OXISAIBI B RS ON A A5
21,000,0002 %14 21,000
OXIZAIE 2XI0H3 5,000, 0002 % 14! 5,000
ORIZAtEI =X s I
8,000,000 %14l 8,000
Ostots tal 10,000,000 %1 Al 10,000
O3|2UES LisZehE (0ISME)AIE I
7,000,000 14! 7,000
02024 XY XIGAISIEEAE 48 X
5,000,000& 14! 5,000
OF=E 02=X08 X
15,000, 000&*14] 15,000
OYGFAl AISISXIAL S223 AFS(EXS 90%)
8,000
—ALBISXIAL BH=0HS] JHE|
4,000,000 14l 4,000
—ASISXIe & A
4,000,000 %14 4,000
OAM2I=XAL 1= X3
56,0002 *250 14,000
OL=Al ABISXIAL MU
5,000,000 * 14! 5,000
(=)212=X 882,000 590,000 292,000
= 705,600
& 52,920
Al 123,480
301 LEENSZ 882,000 590,000 292,000
= 705,600
& 52,920
Al 123,480
01 AISIBEE46I2(SDEXTHSA) 882,000 590,000 292,000
O2I==X KI2A 882,000,000 14! 882,000
= 705,600
& 52,920
Al 123,480
(S)AME=XZ SSAIS 20,000 20,000 0
& 6,000
Al 14,000
307 2I2+0|A 20,000 20,000 0




A

X XH -
(=

SXE2

FHoANE XJ(AB=SX/FAHNSKIH)

=l FAAHSKH (CHl: X 21)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
& 6,000
Al 14,000
11 AIBIS XA E XS 20,000 20,000 0
OAta|= X2t E3HALY
20,000,000 170 2 20,000
L= 6,000
Al 14,000
(2)XNEXR2E AL MBIAEXIA 350,000 298,088 51,912
s 280,000
& 35,000
Al 35,000
201 et 3| 1,000 1,000 0
s 800
& 100
Al 100
01 AFR2eldl 1,000 1,000 0
OXIGAE MEIAEXIAIY 22|
1,000, 000& 14! 1,000
s 800
L= 100
Al 100
307 gIztold 349,000 297,088 51,912
s 279,200
& 34,900
Al 34,900
05 QIZIRIEIZ 349,000 297,088 51,912
OXIG A2 MEIASZXIALY
349,000,000 14! 349,000
s 279,200
& 34,900
Al 34,900
(=) H0ISAHL XA 13,000 16,088 A3,088
s 10,400
& 1,300
Al 1,300
307 g1ztold 13,000 16,088 23,088
s 10,400
& 1,300
Al 1,300
05 QI”IPIEZ 13,000 16,088 23,088
OEHDISHLNAAS
13,000,000 * 14! 13,000
s 10,400
L= 1,300




2A:

SXE2

HE: FOHE KR (ABI=XI/FAHESKIH)
el FAHSAE (Crel: &)
SA - FH . SRI(B) - HIRAY - BAS il b ] Hl D=2
| Al 1,300
NEEWNER=E 941,232 923,715 17,517
307 2IZH0I™ 941,232 910,265 30,967
05 CIZtEr2 941,232 910,265 30,967
OAtsI=XI2t 29
941,232,000 %1044 941,232
THHOITHR! 75 &S 360 360 0
201 LBr2 Y| 360 360
02 2524 360 360 0
OMHTESSX SEHBAIAL 2| AIRE
30,0008+ 122 360
(D)IMASS ALLEH2 420,000 306,000 114,000
[ 100,000
Al 100,000
= 220,000
301 LBHEXZ 420,000 306,000 114,000
[ 100,000
Al 100,000
= 220,000
REEEERSEINENE) 420,000 0 420,000
ONASE AHYLEE 2 I QYZEH2 XY
420,000,000 % 14! 420,000
[ 100,000
Al 100,000
= 220,000
(D) XHABIEFE M2 139,986 145,105 A5, 119
[ 6,000
Al 54,000
= 79,986
307 EI2t0[® 139,986 145,105 A5, 119
[ 6,000
Al 54,000
= 79,986
BNEENNEEEE=TEES 139,986 145,105 A5, 119
OXIGAABISEE AN 2K 120,986
— 124t 112,986,000+ 14! 112,986
[ 6,000
Al 54,000
= 52,986
— A4 2teld] 8,000,000 %1 Al 8,000
= 8,000
OSHE XUABIBEHOIM X
1,000,00094% 1974 A 19,000

m

19,000




A

SXE2

HH. FOOIZ XA (ASI=K/FHAAST)
el FASAE (EERSED)
SA - A SR(B) - AIRAI - BAS o vy ] bl D2
(E)JI=%E%3 N 30,000 30,000
= 2,400
Al 9,600
= 18,000
307 2120l ™ 30,000 30,000
< 2,400
Al 9,600
= 18,000
10 AlRISAANEEE2EH 2 X 30,000 30,000
OJI=ZEd3 29 A
30,000, 0008 %14l 30,000
= 2,400
Al 9,600
== 18,000
INRYNEEIE= Sl Nl 1,330 1,330
301 2l S 1,330 1,330
11 HARHIXIE =S 1,330 1,330
OMERZ DUIEE AN 24 0|
90,0007 630
Odazz ZLIEE 23H| X3
10,0002*7 2103 /00
() ST 25 X2 25,000 25,000
s 3,500
= 21,500
307 eIZto| A 25,000 25,000
= 3,500
= 21,500
10 AlRISXIAEEE 2SI 25,000 25,000
OgzUleit 25 K&
25,000,000 %100 A 25,000
s 3,500
= 21,500
SXZ0MNE SRQAQIHHIXIJ (M EALY) 885,025 885,025
301 Et2d= 885,025 885,025
10 AR SR2RAAEYS 885,025 885,025
OSA20MteI=R22E50 X
867671215852 28] 836,025
(DAL S X2 2t A2 Z X 60,000 60,000
= 18,000
Al 42,000
307 2120l ™ 60,000 60,000
= 18,000
Al 42,000
10 MSISXIANEHE2SHIEX 60,000 60,000




SH: SREHD
B HOE XA (MEI=X/HAHEXR)

el FAHSAE (Crel: &)
SA - FH . SRI(B) - HIRAY - BAS il b ] Hl D=2
OA2ISXI2 Atdl2tel Al 2SS X
60,000,000 14! 60,000
& 18,000
Al 42,000
(Z)AMIASXIAESARIS=E 35,280 33,600 1,680
& 10,584
Al 24,696
301 LBtE&Z 35,280 33,600 1,680
& 10,584
Al 24,696
03 AIZIEBE X 2EIS (KIS THEA) 35,280 0 35,280
OARIEXIAIE SALR =
140,000&*21F*12& 35,280
& 10,584
Al 24,696
(D)DZLH9 MEX|AH| KA 169,872 280,000 A110,128
= 84,936
& 33,974
Al 50,962
301 LetEHE= 169,872 280,000 A110,128
= 84,936
= 33,974
Al 50,962
01 ABI2EE 62 (S NEXTH) 169,872 280,000 A110,128
OZZULH9 M&XI2Hl K&
169,872,000 * 14! 169,872
= 84,936
& 33,974
Al 50,962
(DXSEAMSIEXHE X KISTHS 26,000 0 26,000
= 13,000
& 13,000
307 2I12+01 & 26,000 0 26,000
= 13,000
= 13,000
11 AR S XA E S 26,000 0 26,000
OXIGAR SEE A MKIS US| K&
26,000,000 14! 26,000
= 13,000
& 13,000
AN H2AsE X~ 12,000 0 12,000
301 LetEd= 12,000 0 12,000
03 AISIEE X262 (RIS THA) 12,000 0 12,000




A

SXE2

M FOUHS K (AEISK/HAHSKIH)
el FASAE (EERSED)
SA - A SR(B) - AIRAI - BAS o vy ] bl D2
OArZS] AL S2 XA
12,000,00024% 14} 12,000
HASE MEOHE X2 (MEI=X/IIZHEDE) 2,816,081 2,360,789 455,202
2 2,244,665
7 106,682
S 116,870
Al 317,864
= 30,000
KHEALS 2,816,081 2,360,789 455,292
2 2,244,665
b 106,682
[ 116,870
Al 317,864
= 30,000
KE 22 ALY 12,350 11,860 490
201 ZEr2g| 11,540 11,050 490
01 Al222lH] 11,540 11,050 490
OYFNAREAE AIRA LRI X2
880,000 * 12 10,560
OXteo| 2ol 2 2g
70,0002 %72 *23) 980
301 LPHERZ 810 810 0
11 EHALAHIXI 2 810 810
OXIEXIE AlAfAl ZA0i|
90,00024%92*1 810
EWEEENE 1,517,851 1,540,682 122,831
2 1,366, 066
S 30,357
Al 121,428
101 Q124 180,000 180,000 0
=2 162,000
S 3,600
Al 14,400
04 JRIA2ZUSES 180,000 180,000 0
O22RNE, SXUSL0| NE2ZAIY 1A
750,00024%20 % * 122 180,000
2 162,000
S 3,600
Al 14,400
206 M=l 1,800 1,800 0
2 1,620
53 36
Al 144
01 M2 1,800 1,800 0




A
X‘l iH:
C}—Ol :

ol &k

MEE
Ol &k2H

100,000& * 180K 2

noA

=

1,800
1,620
36
144

307 212+0|1&

Mo

=

1,336,051
1,202,446
26,721
106,884

1,358,882

N22,831

[=}
29

1,336,051,000& x14]

o

=

1,336,051

1,336,051
1,202,446
26,721
106,884

1,358,882

A22,831

W
-
19
=
1
[z
m
H0
02

hnoH

=

I

326,566
207,596
26,691
62,279
30,000

320,153

6,413

307 212401

o

=

"

326,566
207,596
26,691
62,279
30,000

320,153

6,413

10 AtBISXIAIE Y
OXISG A2 29

326,566,000 1702

o

=

i

326,566

326,566
207,596
26,691
62,279
30,000

320,153

6,413

()XExE

A MHIASERAS (DFALRE

0%
ox
HO
Paa
10

SRR

=

133,352
106,682
13,335
13,335

133,353

A1

307 212+01&

SRRE]]

133,352
106,682
13,335
13,335

133,353

A1

133,352,000 14

)

133,352

133,352
106,682

133,353

A1




2A: SXE
HE: HASZE MEOIE KI(ABI=X/ MBI
(e BN =N (crel: M)
SN - BB - S(3H) - MISAY - BAS ollAbol ] MimE=CT
& 13,335
Al 13,335
(PN =S EININ ==, 10,080 10,080 0
= 3,024
Al 7,056
301 LEtENZ 10,080 10,080 0
& 3,024
Al 7,056
03 AIBIE & X 2612 (KIZHE) 10,080 0 10,080
OXISTBHE! EAT 4T
140,0002+x6H*12& 10,080
< 3,024
Al 7,056
(Z) A& SSIAISHI X 25,000 25,000 0
c 7,500
Al 17,500
307 S12+0| A 25,000 25,000 0
& 7,500
Al 17,500
10 AISISXIAIZEESIHIB X 25,000 25,000 0
OXEEESIAIEH X~
25,000,000& %10 A 25,000
= 7,500
Al 17,500
(ZB)22ssJA=s2 e (3UIISSH) 10,491 21,662 A11,171
= 8,820
= 501
Al 1,170
307 2I12+0|A 10,491 21,662 A11,171
= 8,820
& 501
Al 1,170
05 OI2t2& 32 10,491 21,662 A11,171
oz |I=2SE 10,491,000 %1 Al 10,491
= 8,820
= 501
Al 1,170
(2) 22SZTJU=ELSARIESSA (Y ISSHE) (KAL) 14,819 30,001 A15,182
= 12,315
= 751
Al 1,753
307 2I12+01A 14,819 30,001 N15,182
= 12,315




24 SXE
NE: YASE MO KR (ASI=N/IIEME R E)
2l AR (CHo: X 2l)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
& 751
Al 1,753
05 QI”IPIEZ 14,819 30,001 215,182
OBlYIISS R (XHA])
14,819,000 14! 14,819
= 12,315
& 751
Al 1,753
(D)2EsBJUer2 Y22 NA(HLIIBER) 5,942 12,791 6,849
= 4,989
& 286
Al 667
307 2IZtol & 5,942 12,791 26,849
= 4,989
< 286
Al 667
05 QIZIRIEI S 5,942 12,791 N6,849
ougri=2sE 5,942,000 * 1Al 5,942
= 4,989
& 286
Al 667
(F)2EsBJUe+2 23N (HHILIIBEH) 20,358 22,542 A2,184
= 17,909
& 735
Al 1,714
307 2I12t01 & 20,358 22,542 A2,184
= 17,909
& 735
Al 1,714
05 QIZIRIEI 20,358 22,542 A2,184
OBHSIUI|ISER 20,358, 0002 14! 20,358
= 17,909
& 735
Al 1,714
(Z)2EsBJUer= g2 A (HEMSH A 38,776 121,040 AB2,264
= 34,899
& 1,163
Al 2,714
307 21Zt01 & 38,776 121,040 N82,264
= 34,899
& 1,163
Al 2,714




I NEE
B HASE MBOE KR (ASISX/IIZLEDE)
(e BN =N (crel: M)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
05 oII9e= 38,776 121,040 82,264
OHEANEHT 38,776,0002%1 4! 38,776
= 34,899
= 1,163
Al 2,714
B RS Es =S EEITRESTED) 45,200 13,977 31,223
= 37,154
= 2,414
Al 5,632
307 212101 45,200 13,977 31,223
= 37,154
= 2,414
Al 5,632
05 DIRISIES 45,200 13,977 31,223
Os|YH=HE 45,200,000 %1 Al 45,200
= 37,154
= 2,414
Al 5,632
(B 2Ess a2 aa X (BIS A () 54,497 9,956 44,541
= 45,777
= 2,616
Al 6,104
307 212101 54,497 9,956 44,541
= 45,777
= 2,616
Al 6,104
05 DIZISE= 54,497 9,956 44,541
OELIES ETPINE)
54,497, 0002 %1 4! 54,497
= 45,777
= 2,616
Al 6,104
(D22 U=ra ol gr 2 (S HEAE) 76,991 14,548 62,443
(XAr2I015t)
= 63,903
= 3,96
Al 9,162
307 212101 76,991 14,548 62,443
= 63,903
= 3,926
Al 9,162
05 DIRISIES 76,991 14,548 62,443




SN SXHMDY
H: HASE MEOHH X INVBIEZ RS
Rl AHEALY o X2
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
OFHUNL TS HIZH(XHAHRI015H)
76,991,000 % 14! 76,991
= 63,903
[ 3,926
Al 9,162
(F)22sSUA=SSNAS ST (HEHULHSHIA) 523,808 73,144 450,664
(Xt =D
= 445,237
[ 23,571
Al 55,000
307 2I2H0IA 523,808 73,144 450,664
= 445,237
[ 23,571
Al 55,000
05 DI2IRlErS 523,808 73,144 450,664
OF LS HIFH XA EDH)
523,808,0002!* 14! 523,808
= 445,237
[ 23,571
Al 55,000
LS 22 (ABEX/28 3,944,079 3,179,720 764,359
[ 741,600
Al 2,052,879
= 1,149,600
EERIEIE] 3,944,079 3,179,720 764,359
[ 741,600
Al 2,052,879
= 1,149,600
SECR L AIZ2E 685,679 504,520 181,159
101 o124| 2,309 0 2,309
04 JIIR2ETE 2,309 0 2,309
O=sg =A3FH|
9,620 % 1 *4 Al 260 2,309
201 LB 76,240 33,140 43,100
01 AlR2t2|H 35,300 26,700 8,600
OBECHH AlRA 2xiE X
290, 000245 EHll* 122 17,400
SEEINEIESSS HI
4,500,0002 %23 9,000
OssANL (s -Th =
200, 00024 %2074 4,000
O8ZEAlE 2X
50,0002*103] 500
OEFLZ2X I HIZ 55,000 %807 4,400
02 2224 6,440 6,440 0




2 SXFHMY
HM: 2IIBE 22|(ABI=X/2E)
el 2228l (Crel: &)
SN - FE - SRI(EH) - AIRAMY - BN ol aro ] HIDE2
O==H 232 120,000 %122 1,440
O=23|2 & SSAIL HH KXY
5,000,0002 % 14! 5,000
03 A2 | 34,500 0 34,500
Os=d FEA 18,000,000 %1 Al 18,000
06.25 AL 15,000,000 * 1 Al 15,000
OZEY A Sota] 1,500,000 14! 1,500
206 THEH] 1,000 1,000 0
01 X2l 1,000 1,000 0
OBSAL S8ZEHI2 BHl L %E 22
25,0002 %105+43] 1,000
207 SHIRIHEH 22,000 22,000
02 H AR 22,000 22,000
OystZ=c =22 SHOIX 2=
22,000,000 %14 22,000
301 LB 98,630 2,880 95,750
11 BAFAHIXIS S 98,630 2,880 9,750
OBEY A FH 16,000,0002 % 14! 16,000
06.25 A+ ZH 10,000,000 * 14! 10,000
OZEE QI 204l A
1,500,000 * 14! 1,500
06.25 ZI|NME MAKF Z2H 2]
3,000,0002* 14! 3,000
ORE8AL 21 ZA 0
90,0002 +32% 2,880
Os=28&9 o 2 AHHH(E24EHH)
90,0002 * 160213 14,400
OB EHAR MEX| =2 (2E42H)
90,0002 * 160213 14,400
OZYEAR} =2 L oHZBoJAl HANK(ALH
ZF X3 90,0002 *452*13] 4,050
06.25 LT =2 L OHHolAl SRS
(6.25& X223 90,00024% 1002 *13] 9,000
OO0I=5T 01 US| SA
90,0008 %4524 *13] 4,050
OYZAIMNEZOIS| OHBEHA NS
90,0002 % 160213 14,400
oZ=3 M =2
90,000 *20% 13 1,800
OSESSIH 2 =g A
90,000%352 13 3,150
307 2I2+0| & 295,500 282,500 13,000
EFEEEEEEREES 148,000 146,000 2,000
O3 AF25EIE 2| A¥(EX8 FHY)
1,750,000 x4 7| 7,000




SA: SXFD
M 2IIPE pR(AE=X/2E)
o2 B2l (crel: M)
S - B - ORI(3]H) - HISAR - BaS Ol kot ] HIDE2
Od0I=2Z3l A3 228 N (Exs F%)
4,400, 00021542 17,600
ONSTHRES IFANG 294 N (2XE
Foy) 4,400,002 x40 17,600
OHS2AOILLIE| AFAIXE 29| NV (2XS
Fou) 4,400,002 x4 27| 17,600
OSBLENE| IFAINS 298| N (2ES8 FH)
4,400, 00021542 17,600
06.25&VRENE| YFAXS 29| N (BXS
HoH) 4,500, 00021542 18,000
OFLHAMNE IFAKE 294 N (2XE
HoH) 3,000, 0002 x4 12,000
ONYAALE| SFAIXE 2G| NA(2XS HH)
2,625,000 42| 10,500
OS4+ULKTNE| AFAIXE 29| NV (2XS
HoH) 775, 0008 <420 3,100
OGZAITE TS 2| XI(2X8 HH)
6,750,00024 427 27,000
05 BIRt9IEr= 106,000 103,000 3,000
OUstz= 288 2%
106,000, 0002 % 17§ A 106,000
11 AlEI= XA B X 41,500 33,500 8,000
ONAS SEUHAR 22 X
100,00024+60% 6.000
OLQIQOIRR] U ZAES(SHULRBA3S)
4,500,0002*13] 4,500
Osl2=XZT L ABISAZS(DEMEL3])
4,000,00024% 12 4,000
ON2TIRES S2YYZA
3,000,00024%13] 3,000
OM+59 & Al 4,000,00021%14! 4,000
OFFRB SIHaAL
3,000,00084%13] 3,000
OorEnsg 3,000,0002/%13] 3,000
OZZY(MUR, F=H) IS8 N 10,000
—AYH AL 5,000,0002*13] 5,000
—Z=H A 5,000,0002!*13] 5.000
O==4HHo| o A} 4,000,00021%14! 4,000
401 AU L= 0HY] 190,000 185,000 5,000
01 AlZH] 190,000 185,000 5,000
OUsrZ=c 232 AlE =
180,000, 00091 14! 180,000
OUsrZ=e) | S8 2 8
5,000, 00024%23] 10,000
S EECENEIEEE L NE 46,000 46,000 0
S 13,800
Al 32,200




SA 2XNEMD
M 2IIBE DE(AE=X/28)
ce: E=2EXH (crel: M)
SA - FH . SRI(B) - HIRAY - BAS il b ] Hl D=2
301 LBtE A= 46,000 46,000 0
[ 13,800
Al 32,200
03 AFSIEEE S5 S (XL THL) 46,000 0 46,000
OSHUKRSX 2 |F 22| X
2,000,000 %23 46,000
[ 13,800
Al 32,200
BEREEEEESEENEE 1,877,400 1,626,000 251,400
[ 727,800
= 1,149,600
301 UBHEEZ 1,877,400 1,626,000 251,400
[ 727,800
= 1,149,600
03 AFSIEEE 453 (XS THL) 1,877,400 0 1,877,400
OZMRT HOlEH6.25)
250,00094x283% * 122 864,000
[ 345,600
= 518,400
OZMRT Al ()
150,0002 *496 2 * 122 892,800
[ 297,600
= 595,200
OZMRTX AL22
300,000« 10 *12& 36,000
= 36,000
ORINE HH+HHS2ERS)
50,0002 141 12& 84,600
[ 84,600
EEEES 1,110,000 796,200 313,800
301 LBIE A= 1,110,000 796,200 313,800
03 AFSIEEESFS (XS THL) 1,110,000 0 1,110,000
OBEHM>g X 1,110,000
—SBEHAX Holsg
100,00024+910E* 122 1,092,000
—BEAR A2
300, 00024602 18,000
LS HESBI} HHISX SX+S 225,000 207,000 18,000
301 UBHEEZ 225,000 207,000 18,000
03 AFSIEEE 45 S(XILTHL) 225,000 0 225,000
OMLEr ZMSDR} HHRXH =X 225,000
—HHRX =Xag
50,0002 %3502 * 122 210,000
—HHSX AIUR22 300,000 %50 15,000
A SAAH|(SXZ =) (DIEHIIE) 415,529 290,748 124,781




2 SXFHMY
M HYSHAH|(SXFH D) (DIEHIIE
CHel: ol2d29Y) (Chol: ®2l)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
= 106,756
[ 24,637
Al 221,633
= 62,503
REEET 279,741 174,692 105,049
= 106,756
[ 24,637
Al 85,845
= 62,503
(2)ESARIZ2IAIKIR (21241]) 129,873 127,881 1,992
= 47,634
< 14,290
Al 33,344
= 34,605
101 Q124 116,937 113,972 2,965
= 41,166
[ 12,350
Al 28,816
= 34,605
03 2R (RIH) 2224 116,937 113,972 2,965
OSEAIIZ2IAL 124] 116,937
—JlEs 2,131,000 x3Z* 122 76,716
= 38,358
[ 11,508
Al 26,850
—AlZtel2 sy
15,6002 *20 A1 2Hx3Hx 122 11,232
z 2,808
[ 842
Al 1,966
= 5,616
—d2=+< 2,131,000+ 10%+3H*23] 1,279
= 1,279
—HESIHI 2,131,000 +75%+32 <23 9,5%0
= 9,590
—IiE4y 4,080
- X 40,0002 %2+ 12 960
= 90
- R XA 20,000 x2% 128 480
= 480
- A 60,000 x22 128 1,440
= 1,440
- AU AHA 100,000 %1+ 12 1,200




SN SXHMDY
M AHSHAH(SAZHD) (JIEHIIEH
Cel: QlE29Y| (Ctol: X2l)
SA - FH . SRI(B) - HIRAY - BAS il b ] Hl D=2
= 1,200
—oxRaEILY
120,000 «3% 152 5,400
= 5,400
—ZHSAH 140,000 «3 122 5,040
= 5,040
—wWE2xH 100,000 *3% 12 3,600
= 3,600
304 ASEH3S 12,936 13,909 N973
z 6,468
< 1,940
Al 4,528
04 2R (RIHA) 22X LEHRRLS S 12,936 0 12,936
@lu=ol== 8,436
—SEARIZCIAL 2RIH2 23
140,000 «3H+ 122 5,040
z 2,520
[ 756
Al 1,764
—SESARIZEIAL BR300 5Y2
3,396,000 % 14! 3,3%
= 1,698
[ 509
Al 1,189
OSEARMZ2IAL AYEE 222
125,000 «3H 122 4,500
z 2,250
[ 675
Al 1,575
REEET] 48,067 46,811 1,256
101 Q14| 48,067 46,811 1,256
03 SR (RIIHY) 22 HES 48,067 46,811 1,256
OLAIESA(H2IHAD 220l 48,067
—JEs 2,191,270+ 1Zx128 26,29
—ZESJH| 2,191, 2702 %750+ 1 *23| 3,287
—H244 2,191, 2702 %500+ 124*23] 2,192
— A2tz Ry
13,54621% 150%* 15 A 21 H* 122 3,658
—§22244
108, 36821 % 150%+ 1 H %50 8,128
—oxRaEILY
108,368 1152 1,626
—Z g AlY| 140,0002 %13 x 122 1,680
—WESEXH| 100,000 %124 128 1,200




A 2X™H)
M HHSAAH|(SXIFD) (IIEHIIEH
el olE2HH| (Gl ®2l)
S HH . ORI(3H) - HISAY - BaS 0l b o ] HIDE2
BEEECERINEICREED) 101,801 101,801
= 59, 122
[ 10,347
Al 4,434
= 27,898
101 21 24| 89,082 89,082
= 48,946
[ 8,566
Al 3,672
= 27,898
08 ZRA(RIH ) 222+ 89,082 89,082
YES; 2,270,000 *2%* 122 54,480
= 43,584
[ 7.627
Al 3,269
OAlZtelgt 279, 292200 x 122 6,704
= 5,362
[ 939
Al 403
OYEEIH| 2,270, 00021%75%+ 2 %23 6,810
= 6.810
OFasg 2,270, 00024% 10%+2% +23] 908
= 908
OFUZ A 140,000+ * 122 3,360
= 3,360
ONELEH| 100,000 x2 % * 122 2,400
= 2,400
@p/=E= 120,0002 1122 1,440
= 1,440
(@lpyi=t=Ra= 130, 00024 x2 2 * 152 3,900
= 3,900
LN NCE 2,270,000 x50%+2 2 *4 3| 9,080
= 9,080
304 IZES2E 12,719 12,719
= 10,176
[ 1,781
Al 762
04 Z2X(2IH) 22X 222 = 12,719 12,719
O2Z20IB2IAF 202 242
3,599,000 % 14! 3,599
z 2,880
[ 504
Al 215




SA: SXNFHY
M AHSHAH(SAZHD) (JIEHIIEH
CHel: ol2d29Y) (Ctel: ®M2)
SA - A SR(B) - AIRAI - BAS o vy ] bl D2
SEEENERNEEEES]
5,280,0002 % 14! 5,280
= 4,224
[ 739
Al 317
O223HAIAL HAZE 2H2
3,840,0002 % 14! 3,840
= 3,072
[ 538
Al 230
DIEET 135,788 116,056 19,732
J1=H 135,788 116,056 19,732
201 L2 A 31,208 26,896 4,312
01 AFR2t2IHI 31,208 26,896 4,312
O=SARRX| 2HI(A)
20,0002 %232t A 122 5,520
OS204A!H| 8,00086A1x23x 128 13,248
Odetrr= 100,000+ 122 1,200
OARD TAHTRAH 50,0002 % 122 600
OARD 24 9,260
—=ZAPDI(HE) 22
1,000,0002¢1.5CH 1,500
—T2lEd] %2l 100, 00024 *4TH*50% 200
—=ADI EH 200,000 %53 1.5CH 1,500
—ZRIEDI(EY) EY
200,000 %53 x4CH 4,000
—Z2IEDI(Ze) EY
200,000 %53+ 1CH 1,000
—PC==2l 100, 0002 %23CH*20% 460
—J|Et==clt] 50,000+ 122 600
OJ|Et AFR2t2lY] 5,000 232 x 122 1,380
202 O] 91,080 83, 160 7.920
ENCE 91,080 83, 160 7.920
(OF(8,[¢:]:] 20,0002 %232 * 122+ 122 66,240
OZ2l0il 90,0002 %23 » 12 24,840
203 L2 4,800 4,800
04 ENSHADEZAIH 4,800 4,800
ORA2IHRFEI 400,0002% 12 4,800
204 Z 24 AH| 1,200 1,200 0
NESEEEEESEEE 1,200 1,200 0
OXHMSARAHAH| (2 X H DA
100,000 % 12122 1,200
405 XHAHE SH 7,500 7,500
01 AL SEF SH| 7,500 7,500




oM =REY
BB SESAHY| (=X M) (IEIIEN
el Jl=234 (Crel: &)
SN - BB - S(3H) - MISAY - BAS ollAbol ] MimE=CT
[T] OFx=AonZe) 7,500,000 x14! 7 500
THRES(2XAHZD) (AIRI2X /I =MEHE) 2,406,907 2,296,930 109,977
LHEAHHKI = 2,406,907 2,296,930 109,977
LHEHHKI S 2,406,907 2,296,930 109,977
701 JIEISI HSHEZ 2,406,907 2,296,930 109,977
01 JIEtSI AN EZ 2,406,907 2,296,930 109,977

O2z=0 XZH|(XLHIREH)

2,406,907, 0002 14! 2,406,907




